
FACTORISING WORKSHEET 1

Test 1

1 2a + 4 = 

2 3b + 6 = 

3 4c + 12 = 

4 6d - 18 = 

5 3e - 9 = 

6 4f + 16 = 

7 5g - 15 = 

8 3h + 15 = 

9 6j - 24 = 

10 8k - 16 = 

Test 3

1 ab + 6a =

2 bg - 7b =

3 df + 5d =

4 fh + 10h =

5 gt + 4t =

6 kw - 7k =

7 jh + 3j =

8 mn + 2n = 

9 pr - 9p =

10 qs + 4q =

Test 2

1 30g + 20 =

2 14h - 28 =

3 15r - 10 =

4 18t + 9 =

5 18s - 6 =

6 20k + 15 =

7 55m - 22 =

8 24n - 16 =

9 10p + 5 =

10 12q - 6 =

Test 4

1 6ab + 3ac =

2 7bt - 21bf =

3 8gh + 20gt =

4 3hk - 9km =

5 4pq - 8pw =

6 a2 - 6ab =

7 b2 + 4bt =

8 5fg + 15fk = 

9 20abc -  15abt = 

10 16xyz + 12x2y =
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